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General Instruction —

Read the paper carefully and attempt all the questions.

Section - A
Q1. Multiple choice question — [9 marks]

1) Ihave 4 in my ones place. | am more than 26 but less than 40. What number

am I?
a) 34 b) 98 c) 203 d) 24

How many hundred are there in 8077
a) Zero b) Three c) Eight d) Four
A foot-ball has shape of

a) rectangle b) Cylinder c) Sphere d) square
How many lines are required to make the alphabet E?

a) 2 b) 3 c)4 d) 1

Top view of a compass box is

a) circle b) cone c) square d) rectangle
The sum of 27 and 77 is

a) 87 b) 97 c) 107 d) 104

The difference of 77 and 36 is
a) 97 b) 113 c)41 d) 105

A globe has surface.

a) Curved b) plane c) No d) none of these
All the sides of a square are

a) Curved b) same ¢) unequal d) opposite

Q2. Fill in the blanks — [11 marks]

1) The base of your water bottle
2) has 28 or 29 days.

3) Distance from classroom to school gate is measured in
4) The place value of 3in 6738 is




5) 14 less than 74 is :
6) Hours hand is than minute hand.
7) Independence Day is celebrated in the month of

8) The place value of 5 in 6538 is .
9) Where two faces of a solid meet is called its

10) Edges of cylinder are :
11) There are days in a normal year.

Section - B
Q3. Complete the patterns in sequences —

a) 820, 720, 620,

b) 964, 969, 974,

c) 363, 364, 365, ,

d) 701,711,721, ,

Q4. Subtract the following given sums below —

Q5. Subtract and check the answer —

63

|

Q6. Write the units am or pm —

1) Anvi reads a lesson in school at quarter past ten.
2) 3:30 in the afternoon.
3) 10:30 in the night.

4) 4:30 in the morning.

[8 marks]

[4 marks]

[4 marks]

[4 marks]




Q7. Convert metre into centimetre — [4 marks]

a) 300m=

b) 116 m=

c) 36m=

d) 59m=

Q8. Convert centimetre into metre — [4 marks]

a) 22000 cm =

b) 8700 cm =

c) 69000 cm =

d) 5400 cm =

Section C

Q9. Write the time on the clock given below — [3 marks]

Q10. Word problem — [9 marks]

1) Madhu bought 676 toffees on her birthday. She distributed 489 toffees. How many toffees

are left with him?




2) George jumps 10 steps forward starting from 650 to 710. Write the numbers he jumped.

3) A train compartment is carrying 123 people. Another compartmentis carrying 120 people.

Find the total number of people in both the compartments?




